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Dissemination of Education for Knowledge, Science and Culture”
-Shikshanmaharshi Dr. Bapuji Salunkhe

Shri Swami Vivekanand Shikshan Sanstha’s
VIVEKANAND COLLEGE KOLHAPUR

(EMPOWERED AUTONOMOUS)
Department of Statistics
REMEDIAL COACHING

Goals & Objectives
1. To identify the strengths and weaknesses of students.
2. To enhance the academic abilities of students who need additional
support in comparison to other students.
3. To provide necessary facilities and support for the academic

development of all students.




Dissemination of Education for Knowledge, Science and Culture”
-Shikshanmaharshi Dr. Bapuji Salunkhe

Shri Swami Vivekanand Shikshan Sanstha’s

VIVEKANAND COLLEGE KOLHAPUR
(EMPOWERED AUTONOMOUS)
Department of Statistics
REMEDIAL COACHING
NOTICE
Date: 12/08/2024

All the students of B.Sc. II are hereby informed that the lectures of
“Remedial Coaching” will be conducted from 19/08/2024 to 29/08/2024
in the Department of Statistics at 10:00 a.m., as per the following
timetable.

TIMETABLE

Date: 19/08/2024 to 29/08/2024. (10 Days)
Time: 10.00 am to 11.00 am

Sr. No. Date Name of Teacher Sign
L. 19/08/2024 Mrs. V. C. Shinde \;Q W
2. 20/08/2024 Mrs. V. C. Shinde V(\ [
3: 21/08/2024 Mr. A. B. Bhosale W/
4, 22/08/2024 Ms. M. A. Mulik M- A Mk
5. 23/08/2024 Ms. A. M. Makandar é@l’m
6. 24/08/2024 Ms. P. V. Ransubhe Y‘ﬁ?‘&/
7- 26/08/2024 Mr. D. D. Patil /W
8. 27/08/2024 Mr. A. S. Tangawade W
9. 28/08/2024 Mr. A. B. Bhosale _Wﬁ/
10. 29/08/2024 Ms. M. A. Mulik M & kb

i

Mrs. V. C. Shinde
HEAD

DEFARTMENT OF STATISTICS
WEKANAND COLLEGE,
(EMOSWERED




Dissemination of Education for Knowledge, Science and Culture”
-Shikshanmaharshi Dr. Bapuji Salunkhe

Shri Swami Vivekanand Shikshan Sanstha’s

VIVEKANAND COLLEGE KOLHAPUR
(EMPOWERED AUTONOMOUS)

Department of Statistics
SYLLABUS - REMEDIAL COACHING

Sr. No. Unit No. Name of Unit No. of
Hours

£3 Unit 1 Measures of Central Tendency 1

2. Unit 2 Measures of Dispersion 1

3 Unit 3 Correlation, Regression & 2

Multiple correlation

4, Unit 4 Probability 2

3. Unit 5 Mathematical Expectation 2

6. Unit 5 Some Standard Discrete 2

Probability Distributions

[\
Y
Mrs. V. C. Shi
Yo El'"w hinde
XANAND nor T STATISTICS
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’r VIVEKANAND COLLEGE KOLHAPUR (EMPOWERED AUTONOMOUS)

Department of Statistics

Diagnostic Test
Date: 9/08/2024 Time: 11.30-12.30 Marks: 50
Name of the Student: Kad a W Caw M \ e Class: B.Sc. II

\LYTf P(A)=0.3, P(B)= 0.78, P(ANB) =0.16 then P(A[B) =.........
¥f0.21 B) 0.79 C)0.53 D) 0.63

%n important property of distribution function F (x), such as it is ..........
A) An increasing function B) A decreasing function
C) A monotonically decreasing function ~ IDYA non — decreasing function

% X is a discrete r.v. with mean E(X) then E [X- E(X)]? is called ..............
A) Mean B) Variance C) Standard Deviation D) Second raw moment

\%{IfX has p.m.f. P (x) =F11’ x=0, 1, 2... k and the mean of the distribution is 6. Then the
value of k is ...
A)6 B) 18 C) 36 Py 12

@j\ r.v. X follows discrete uniform distribution assuming the values -3, -2, -1, 0, 1, 2, 3 then
mean and variance of X are ...

Wdand6  B)025and4 C) 0and4 D) 7and4

en population is finite and sampling is done without replacement so that the events are
statistically dependent although random then the distribution under consideration is ...
A) Bernoulli E’/nyper geometric C) Binomial D) Discrete uniform

: \7{ Let Q= {HH, HT, TH, TT} and A and B are two events defined on sample space Q then which of
the following events shows partition of sample space Q

-------

A) A= {HH, TT}, B = {HT, TH} B) A= {HH}, B= {HT, TH, TT}
B) A= {HH, HT}, B= {TH, TT} DY All the above
Mhe three-regression plane coincide if ......, where [R| is the determinant of simple correlation
coefficients.
aAZfIR]=O B)RI=1 C)IR[>0 D)[R|>1

% a trivariate population, if ri2 = 0.75, rj3= 0.6 and r23 = 0.5 then the value of R% 2 is
A)0.73 B)0.53 0.63 D)0.83

\wg?or the following distribution:

X o ) 4 5
P(x)[0.1[/02[03]0.25]0.15
The value of median is ...

A) 2 3 C) 4 D) Not exists

u’{ The component of time series attached to a long-term variation is terms are '

A) Cyclical variations  B) Seasonal variation CYSecular trend D) Irregular variations

B




1(2)/ The mean, median and mode of the distribution is 23,25 &27 respectively then distribution is ....
W)/Positiveiy Skewed B) Symmetric C) Negatively Skewed D) Normal

74\3) Which of the following is not absolute measure of dispersion?
NﬁStandard deviation B) Variance

C) Coefficient of Variance D) Mean deviation

Q}ﬁf the third ordered central moment (3) is negative then the distribution is . ....

A) Symmetric kewed Negatively C) Skewed Positively D) Platykurtic
B)

745) If X & Y are independent random variable then ...
A)Cov. (X, Y)=0  B)Com(X,Y)=0 Of E(XY)=E(X). E(Y) D) All of them
J6) If X has Poisson distribution with E(X) =3 then V(2x+3) is...
12 B)3 C)6 D) 0

W{Let X has geometric distribution with parameter (.2 then its mean is ....

1 1 3
A B 0o i
mﬁfx follows NBD (k, p) then variance of X is

k
R B) ! C)::—f -

...........

p2

1/961" fix.y) = e=*%)  x,y> 0 then marginal distribution of X is
A)e*  B)e  GYe*  Dje?

In time series Analysis, when the change is by constant rate then model used is

A) Additive B{Multiplicative C) Mixed D) Exponential,

)If correlation between x and y is -0.3, then correlation between yandxis.......
A)0.3 803 C)Zero D) None of these

DQ{With usual notations the regression equation X3 on Xiand X5 is

---------

A) X5=b32.1X) + 312X B) X5= b3 X + by X5 ?J
Q&F b312X1 + b3z X> D)Xs=b2ui1 X +bausx
S

¢ coefficient of multiple determination is

A)Ri23 B){{‘2123 C)R’21  D)R%;;

) The correct relationship between R2; 3 and ri3is

---------

B 1- R2125 = (1- 12) (1- Pi3) B) R%123= (1- Py (1- Pi32)
C) 1- R*123= (1- ?13) (1- r’132) D) R?23=(1- 13) (1- r’123)
%}u’ch of the following is not one of four

types of variation that is estimated in time series analysis?
A)éredictable B) Irregular C) Cyclical D) Trend




2

:
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\/Z’) An 1mportant property of distribution function F (x), such as itis ..........

%4)IthaspmfP(x)

?C mean and variance of X are ...

\/{ Let Q = {HH, HT, TH, TT} and A and B are two events defined on sample space Q then which of

/ﬁ‘he three-regression plane coincide if ......, where [R| is the determinant of simple correlation

)o 9) In a trivariate population, if ri2 = 0.75, r13= 0.6 and \j;;l))).S then the value of R?123 is............
83

VIVEKANAND COLLEGE KOLHAPUR (EMPOWERED AUTONOMOUS)

Department of Statistics %
Diagnostic Test /
. uel
Date: 9/08/2024 . Time: 11.30-12.30 Marks: 50
Name of the Student: Pat) S hveqa Pravin . Class: B.Sc. II

1) If P(A)=0.3, P(B)= 0.78, P(ANB) =0.16 then P(A|B) =.
A)021 | _BY0.79 C) 0.53 D) 0.63

A) An increasing function B) A decreasing function
C) A monotonically decreasing function \/Dﬂ/ A non — decreasing function

If X is a discrete r.v. with mean E(X) then E [X- E(X)]* is called ..............
A) Mean \/B’fVariance C) Standard Deviation D) Second raw moment

.x=0, 1,2... k and the mean of the distribution is 6. Then the

value of k is

A)6 B) 18 Y36 D) 12

5)A r.v. X follows discrete uniform distribution assuming the values -3, 2,-1,0, 1,2, 3 then

A)4 and 6 \/B’)/0.25and4 C) Oand4 D) 7and4

6)When population is finite and sampling is done without replacement so that the events are
statistically dependent although random then the distribution under consideration is ...
A) Bernoulli  B) Hyper geometric \Q)/Binomial D) Discrete uniform

the following events shows partition of sample space €2.......
A) A= {HH, TT}, B = {HT, TH} B) A= {HH}, B= {HT, TH, TT}
B) A= {HH, HT}, B= {TH, TT} DBy All the above

oefﬁc1c ts
B)[R|=1 C)IR|>0 D) [R[>1

A)0.73 B)0.53 €)0.63

10) For the following distribution:
X I e & 4 5
P(x)[0.1][02[0.3]0.25]0.15

The value of median is ..,
A) 2 B)3 4 D) Not exists

1 The component of time series attached to a long-terga¥ariation is terms are ..
A) Cyclical variations B) Seasonal variatio Secular trend D) Irregular variations




. . t .b t. : . &
‘762) The mean, median and mode of the distribution is 23,25 &27 respzctlvely tll;;nNdc::::alu ion is
A) Positively Skewed B) Symmetric C) Negatively Skewe

“13) Which of the following is not absolute measWispersion?
)Q A) Standard deviation ) Variance il
() Coefficient of Variance D) Mean deviation

distribution is .....

14) If the third ordered central moment (u3) is negative then the b _

\d : AS Symmetric  B) Skewed Negatively C) Skewed Positively D) Platykurtic
B)

)‘:}5) If X & Y are independent random variable then ....

_AJCov.(X,Y) =0 B)Com(X,Y)=0 C)E(XY)=E(X). ECY) D)All of them
>¢46) If X has Poisson distribution with E(X) = 3 then V(2x+3) is.
A) 12 B) 3 276 D)0
\/1'7) Let X has geometric distribution with parameter 0.2 then its mean is ...
B LBy 0l oA
)Q 18) If X follqws NBD (k, p) then variance of X is

Il ke ) ka
B)= 0% . D

p? p?

...........

) Iffixy) = e **)  xy> 0 then marginal distribution of X is
Ae* . B¢ " . D)e? |

\_—20) In time series Analysis, when the change is by constant rate then model used is
A) Additive WMtiplicative C) Mixed D) Exponential.

)If correlation between x and y is -0.3, then correlation between y and X is
A)0.3 \m 3 C) Zero D) None of these

.......

With usual notations the regression equation X3on X;and Xois ...,
A) X3=b3n2uX1 + b2 Xo B) X5=b213 X1 + b3 X3
5= b312X1 + bazy Xo D) X3=ba1Xi+basx
\}Qj‘Ffe coefficient of multiple determination is..... ..
ARz ByYR%o C)R%;, D) R?53
\/245 The correct relationship between R2 23 and 113 is
\.,K( R*123=(1- r’12) (1- 243, 2) B)R? 3= (1- 1y (1-t%132)

C) 1-R* 3= (1- *13) (1- %132) D) R?53=(1- r*i3) (1- ’123)

5) Wh\i;!ya following is not one of four types of variation that is estimated in time series analysis?
b »
Predictable  B) [rregular C) Cyclical D) Trend

.........

o




VIVEKANAND COLLEGE KOLHAPUR (EMPOWERED AUTONOMOUS)
Department of Statistics
Diagnostic Test
Date: 9/08/2024 Time: 11.30-12.30 Marks: 50 SO

Name of the Student: A\jdae—\'(q(' Maith, [\ San| - Class: B.Sc. I

) IFP(A)=03, P(B)= 0.78, P(ANB) =0.J6 then P(A[B) =......
A)0.21 B) 0.79 0.53 D) 0.63

¥2) An important property of distribution function F (x), such asitis..........
A) An increasing function M decreasing function
C) A monotonically decreasing function =~ D) A non — decreasing function

) If X is a discrete r.v.\;iy,mean E(X) then E [X- E(X)]? is called ..............
A) Mean Variance C) Standard Deviation D) Second raw moment

P 4) If X has p.m.f. P (x) =k—11, x =0, 1, 2... k and the mean of the distribution is 6. Then the
value of k is ...

A)6 B) 18 C) 36 py12

P(S)A r.v. X follows discrete uniform distribution assuming the values -3, -2, -1, 0, 1, 2, 3 then
mean and variance of X
A)4 and 6 025and4 C) Oand4 D) 7and 4

%G)When population is finite and sampling is done without replacement so that the events are
statistically dependent although random then the distribution under consideration is ...
A) Bernoulli  B) Hyper geometric G}/ﬁinomial D) Discrete uniform

\A Let Q = {HH, HT, TH, TT} and A and B are two events defined on sample space Q then which of
the following events shows partition of sample space Q.......

i® A) A= {HH, TT}, B = {HT, TH} B) A= {HH}, B= {HT, TH, TT}
B) A= {HH, HT}, B= {TH, TT} \Ef All the above
j\S) The tluee&egression plane coincide if ......, where [R| is the determinant of simple correlation
coefficients. B‘(
A)[R|=0 Ri=1 ORI>0  D)[R|>1
\6 In a trivariate population, if ri2 = 0.75, 133= 0.6 and r23 = 0.5 then the value of R 3 is............
A)0.73 B)0.53 0.63 D)0.83

740) For the following distribution:
X 12 4.3 4 5
P(x)]0.1]0.2]0.3]0.25]0.15

The value of median is ./
A) 2 B)3 4 D) Not exists

)1<1) The component of time series attached to a long-term variation is terms are ‘
A) Cyclical variations B Seasonal variation C) Secular trend D) Irregular variations

P
W
3
'“13
P
4

|
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i istribution i
7@) The mean, median and mode of the distribution is 23,25 &27 TCSPZC“VCIY tg;l;q (:)l:rrr:alu s
A) Positively Skewed {)d;ymmetric C) Negatively Skewe

\}Q) Which of the following is not absolute measure of 15;?ersion?
A) Standard deviation Variance ;
C) Coefficient of Variance D) Mean deviation

) ' i i istribution is .....
) If the third ordered central moment (u3) is negative then the dlstn. . .
¥ A) Symmetric Skewed Negatively ~ C) Skewed Positively D) Platykurtic

B)
\}k{lf X & Y are independent random variable then ....

A)Cov. (X, Y)=0  B) Corr(X, Y)=0 C) E(XY)=E(X). E(Y) E{A” of them
j@ If X has Poisson distribution with E(X) = 3 then V(2x+3) is...
A) 12 3{3 C)6 D)0

Let X has geometric distribution with parameter 0.2 then its mean is ....
1 1 3
N B 0! B4
iﬁ If)\(?,\ows NBD (k, p) then variance of X js.... ..
)

L9 kq L. kq
B) - C) = D)

: pz pZ
1N fix,y)=e"

&+ x,y> 0 then marginal distribution of X is
A)e* B) e¥ C)e*

e'y

0) In time series Analysis, when the change is by constant rate then model used is

A) Additive Wuuipncaﬁve C) Mixed D) Exponential,

)If correlation between x and y-is -0.3, then correlation betw

eeny and x is
A)0.3 B)-0.3 Zero D) None of these

$;2) With usual notations the regression equation X3 on X, and b, S
A) X5=b321X1 + b312 X 'B/XF b213 X1 + bys 1 X3
C) X5=b312X1 + bz X,

D)Xs=bxuiXi+basx
2})/'I'he coefficient of multiple determination

B s

A) Rz R? 23 O R’ D)R2py,
34\) The correct relationship between R?123 and 113 s

A) 1-R%123= (1- 13) (1- r132)

B{Rzl,ﬂ = (1- 13 (1- r’132)

O 1-RAzs=(1- i3) (1- ’13.2) D) R%123=(1- r13) (1- ’123)
25{ Which of the following is not one of four types of variation that is estimated in time series analysis?

m’redictable B) Irregular C) Cyclical D) Trend




=

® A) A= {HH, TT}, B = {HT, TH} B) A= {HH}, B= {HT, TH, TT}
B) A= {HH, HT}, B= {TH, TT} DAl the above
8) The three-regression plane coincide if ......, where |R| is the determinant of simple correlation
coefficients.

VIVEKANAND COLLEGE KOLHAPUR (EMPOWERED AUTONOMOUS)
Department of Statistics

Diagnostic Test

Date: 9/08/2024 Time: 11.30-12.30 Marks: 50

Name of the Student: Tane < wushn o Ra \a vVa n._}_ Class: B.Se. Il

1) IfP(A)=0.3, P(B)= 0.78, P(ANB) =0.16 then P(A|B) =.........
N \VA)0.21 B) 0.79 €953 D) 0.63

2) An important property of distribution function F (x), such as it T s ed
A) An increasing function B) A decreasing function
T C) A monotonically decreasing function \_DYA non — decreasing function

3) If X is a discrete r.v. with mean E(X) then E [X- E(X)]* is called ..............
— A)Mean  B)-Variance C) Standard Deviation D) Second raw moment

4) If X has p.m.f. P (x) ﬁ x =0, 1,2... k and the mean of the distribution is 6. Then the

o« value of k is ...
A) 6 B) 18 \966 D) 12

5)A r.v. X follows discrete uniform distribution assuming the values -3, -2, -1,0, 1,2, 3 then
mean and variance of X are ...

_— | A#md6 B)025and4 C) 0 and 4 D) 7and4

6)When population is finite and sampling is done without replacement so that the events are
statistically dependent although random then the distribution under consideration is ...

v~ A) Bernoulli \},)/H’yper geometric C) Binomial D) Discrete uniform

7) Let Q = {HH, HT, TH, TT} and A and B are two events defined on sample space € then which of
the following events shows partition of sample space £2.........

o  ARI=0 B)R|=1 C)[RI>0  D)[R|>1

9) In a trivariate population, if 112 = 0.75, 113= 0.6 and r23 = 0.5 then the value 0f R?123 i8......uvvus

L AT B)0.53 L$)063 D)0.83

10) For the following distribution:
X 1 22 31 4 5
v~ [P ]0.1]02]03[025][0.15
The value of median is ...
A)2 _BY3 () 4  D)Notexists

11)  The component of time series attached to a long-term variation is terms are ...
e A) Cyclical variations ~ B) Seasonal variation C) Sectlar trend D) Irregular vmaﬂons




i distribution is . .
12)  The mean, median and mode of the distribution is 23,25 &27 respectively then di

i D) Normal
" A) Positively Skewed B) Symmetric C) Negatively Skewed )
13) Which of the following is not absolute measure of dispersion?
A) Standard deviation VBV arlanccl:e gi
0(\ C) Coefficient of Variance D) Mean devia

14) If the third ordered central moment (n3) is negative then the distribution is .....

" A) Symmetric , B)Skewed Negatively C) Skewed Positively D) Platykurtic
B)

15) If X & Y are independent random variable then ...
Iy

A)Cov. (X, Y)=0  B)Corr(X, Y)=0  C)E(XY)=E(X). E(Y) DAl of them
16) If X has Poisson distribution with E(X) = 3 then V(2x+3) is...

o A2 B) 3 C)6 D)0

17) Let X has geometric distribution with parameter 0.2 then its mean is ....
1 1 3
R B)> O D4
18) If X follows NBD (k, p) then variance of X is

...........

; s kg ko ke
W 23 p? B) P & q* p?
19) If fix,y) = e=@*) | x y> 0 then marginal distribution of X is

..........

e A) ex

B)e¥ \/Qfé”" D) e

20) In time series Analysis, when the change is by constant rate then model used is
v A) Additive B Multiplicative C) Mixed D) Exponential,

21)If correlation between x and y is -0.3, then correlation between yandxis.......
A)0.3 \)}«0.3 C) Zero D) None of these

22) With usual notations the regression equation X3 on X; and X>is
X" A) X5=b32,1X + b312 X, B) X3= ba13 X + by31 X5 r
O Xs= 312X + bazy X D) Xs=bxui1Xi+basx

23) The coefficient of multiple determination is

= ARz | BYR%y  C)R2y, D) R?j5;5

24) The correct relationship between R? 23 and ri3is
syt AT-R? 5= (1- r’12) (1- r’132)
O 1-Ri23= (1- P13) (1- 1213.)

.........

B) R?123= (1- Py (1- 132)

D) R? 23= (1- 1213) (1- r’123)
25) Which of the following is not one of four types of variatio

A \ A)-Predictable  B) Irregular

n that is estimated in time series analysis?
C) Cyelical D) Trend

s e e S AT i VL
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Students List
Sr. No. Name of Student Perc7ntage Sign
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L. Kadam Parimal Chandrashekh SET Q
: arim andrashekhar g o
- 4 Patil Shreya Pravin B
2 |34
4 Ajagekar Maithili Sunil Yo w
4_' Mane Krushna Balavant | gn S f il ;
5. Fadtare Divya Ananda L,
4 | Ridkme
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32 | Qe=ked
7. Bharankar Sumita Sandip i
36 | “Bwtakar
3 Patil Shital Shivaji L, o %
9. Gorade Vishal Karyappa >
26 @ayr(»-de
/

10. | Kamble Shrirang Bhagwan
4y | Fembles
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Murs. V. C. Shinde




Dissemination of Education for Knowledge, Science and Culture”
-Shikshanmaharshi Dr. Bapuji Salunkhe

Shri Swami Vivekanand Shikshan Sanstha’s

VIVEKANAND COLLEGE KOLHAPUR
(EMPOWERED AUTONOMOUS)
Department of Statistics
REMEDIAL COACHING

“Notice: Remedial Coaching Examination”

Date: 26/08/2024

All the students of B.Sc. II, who have attended the coaching
sessions are informed that the Remedial Coaching Exam will be held on
03/09/2024 between 11:30 a.m. to 12:30 p.m. in the Room No. 401,
Department of Statistics. |

A~

Mrs. \ﬂ C. Shinde
HEAD
DEPARTMENT OF STATISTICS
IVEKANAND COLLEGE, KOLMAPUR
(EMPOWERED AUTONOMOUS)




“Dissemination of Education for Knowledge, Science and Culture”
-Shikshanmaharshi Dr. Bapuji Salunkhe

Shri Swami Vivekanand Shikshan Sanstha’s
VIVEKANAND COLLEGE KOLHAPUR
(EMPOWERED AUTONOMOUS)

Department of Statistics

REMEDIAL COACHING
Attendance
Sr. Name of | 24/08/2024 | 26/08/2024 | 27/08/2024 | 28/08/2024 | 29/08/2024
No. Student
K. Patil Shreya
Pravin %ﬂ_» %@_’ @_ /Z_f’_qﬂ__ m
3. Ajagek
Maithili Sunil NSApgekar.| 1 Ajgekon| Mstaqekar. Mesagekar | Natjagdeor
3. | Fadtare Di
Camnda | Rodfore. “Bodtare | Bodiore | Radlare (Tadlore
4. | Sankpal Kajal
B | Sl o | B | Bl
5. | Bharank
ot Sajéip ﬁm/ﬁ@t _ﬁ’ﬂl“;ﬁtﬂ“ﬂﬁ Brornkar fhasnkar ﬁo&nLg
| Patil Shital
e
7| Gorade Vishal _ |
| Karyappa | | (e | Glonaole | CRarmde| eanade -
8. Kambl U, | Dambile . : | 1/
SharIi?anZ o y S bl Méf/

Bhagwan




. l VIVEKANAND COLLEGE KOLHAPUR (EMPOWERED AUTONOMOUS]
Department of Statistics

Remedial Coaching Exam 2024-25 Class: B.Sc. II
Date: 3/09/2024 Marks: 50 Time: 11.30-12.30

Name of the Student: (Pa.ks ' ‘3\'\‘(“'410. Qm’xﬂ 0

4
1. The both regression coefficient has ........

8) Same algebraic sign always b) Same algebraic sign never
¢) Same algebraic sign sometimes d) all of these
A1 correlation between X and Y is 0.7, then correlation between (4X+3) and (3y-4) is .......
0.7 b)-0.7 ¢)0 d) None of these
/A set of values with mean 20 and its coefficient of variation is 15% then variance of the series
— B e
7 2)30 b)3 &9 d)300
4/l’f.r12 = =0then Rys3= ........
a) 1 0 ¢) Unpredictable d) None of these
- The variation in values of times series due to traditions and festivals is known as ........
a) Seasonal variation \bﬁyclical variation
b) Random variation d) None of these
j/lfrm Mas =0 e 1y = ' L...bu0
T2 b) Zero ¢)l d) none of these

}ﬂ Which of the following true for [R|= .........

2 2 2 2 2 2
a) 1-r%3 —1%3 —1%3 + 21131373 y’KT 12 T 7713 = 1%23 + 211573753

» b) 14121, = 1213 =123 + 2rip1istys )12y, — 1213 — 1255 — 2151370,
If cov(x,y)=-6, V(x) =4, v(y)=9 thenr = ............
(z{ -1 b)1 c)-1to+1 d) None of these
)./I'he order of residual X123 18 . ievsseishoraiasores
a) 1 \,bjé c)3 d) None of these
A ’i‘he correlation coefficient is the .......... between the regression coefficients
a) AM. b) Median ¢) Mode \df)/Geometric Mean
)/Fhe additive model in Time Series is ............
»aﬂ/ Y = T+S+C+I b) Y=T+S+I c) Y=S+C+ d) Y= T+S+C
“Rank correlation coefficientisequal to 1if ........................
) Ydit=1 WpEdi?=0 )Xdi?>0 Y di? < 0

. Let (X, Y) be a bivariate discrete r, v. with joint p. m. f.
(xy) 0,00 | (1,0 |O1) |1
P(x,y) 172 1/4 5/12 1/4




The meanof Yis .......

a) 1/3 b)1 ,054 2 d)2/3

14 4If X and Y are two random variables with means E(X) and E(Y)resp. then the expressions ‘
/ E[(X-E(X)) (Y-E(Y))] is called ......... ‘
a) variance of X b) Variance of Y
variance between X and Y  d) correlation coefficient between X and Y
15.The correlation coefficient between X and Y is zero. We then conclude that........
/ a) Xand Y have some distribution.
b) The variance of X and Y are equal.
/y here exists no relationship between X and Y
)

There exists no linear relationship between X and Y

7&.le has one point distribution with P (X =k) =1 and P(X#k) =0, then variance of X is ........

a) k Jm/ c)0 d) None of these
1/7/f)eciles divide the data into.......... equal parts.
a)9 b) 4 o0 d) 100

18/1f X~b(n,1/4), then the probability distribution of Y=n-X is
a) bn14)  bb@nl) obmi4) 4 b(2n,1/4)

yhe cond central moment of Poisson distribution with mean m is----
/d(:

.......

b)2m ¢) m? d) m?2
20-Geometric distribution is a particular case of .........
/ a) Binomial Distribution b) Poisson Distribution
)(Izegative binomial Distribution d) Hypergeometric Distribution
1. If X-NB (k, p) then ...... :
% a) mean<variance AeanWariancc
' b) mean=variance d) mean< Geometric Distribution

/Zlye of the binomial distribution jg-----
not unique  b) unique c) np
yix random variable X—H (N, M,n) when N—» d;?d =P, the distribution of X is....

a)b(n,g)  b) b(m,p) ¢)b(m,q) n,p)

If a random varigble X—H (10,6,3) then the mean of X is

a) 10 ,u{;ﬂ ¢)6 d2

/S.The recurrence between the probabilities of Poisson(m) is P(X=x+1)=......... P(X=x)
) m/(x+2)  bmk o)X/(m+1) })tﬂ/(xﬂ )

d)npq

------
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“The both regression coefficient has ........

‘})/Same algebraic sign always b) Same algebraic sign never
¢) Same algebraic sign sometimes d) all of these
/ﬁf correlation between X and Y is 0.7, then correlation between (4X+3) and (3y-4) is .......
07 b)-0.7 ¢)0 d) None of these
/4\ set of values with mean 20 and its coefficient of variation is 15% then variance of the series
- is......
2 a)30 b)3 1/2’9‘ d)300
A, =r;3=0then Ryp3= ...
a) 1 l/baﬂ’ ¢) Unpredictable d) None of these
~The variation in values of times series due to traditions and festivals is known as ........
I/a)/ Seasonal variation b) Cyclical variation
b) Random variation d) None of these
/6/l'fr13 =13 =0 thenryzz = ..covoeins
B T b) Zero o)l d) none of these

/7‘/Which of the following true for [R|=.........
LAY 1r?ip =15 - 123+ 2rppTyatas D)1-r?yy + 7243 — T3 + 2riaTistas

2 2 2 2
b) 1+T212 o= 7’213 —1%23 + 211113723 d)1-r? ; — 1413 = 1433 — 2ry3T13723

® /ﬂf cov(x,y)=-6, V(x) =4, v(y)=9 thenr = ............

VQ)/.l b)l c)-1to +1 d) None of these
" The order of residual X123 18 ..cooovmrninienienn
a) 1 ‘);)2’ )3 d) None of these
“The correlation coefficient is the .......... between the regression coefficients
a) AM. b) Median  ¢) Mode Vd’)ﬁ-eomctric Mean
“The additive model in Time Series is ............
R Y = T+S+CH b) Y=T+S+1 ©) Y=S§+CH d) Y=T+S+C
; (H/Rank correlation coefficient is equal to 1if .....ooooniiinnnnennn,
) Tdit=1 ATdiZ=0 OLdi®>0 OT di? < 0

g GKL& (X, Y) be a bivariate discrete I, V. with joint p. m. f.
Tk &y 100 |00 [ |AD
ko Moy 12 |14 |12 |14




B

The mean of Yis....... i
‘ : - 73
b " Lk ' t:dp:he expressions
d-(\IfX and Y are two random variables with means E(X) and E(Y)resp. then the exp
E[(X-E(X)) (Y-E(Y))] is called .........
a) variance of X | DyVariance of Y

c)covariance between X and Y d) correlation coefficient between X and Y
Of»\'fhe correlation coefficient between X and Y is zero. We then conclude that
a) Xand Y have some distribution,
\,b)/ﬁqe variance of X and Y are equal,

--------

¢) There exists no relatioriship between X and Y

d) There exists no linear relationship between X and Y

aéxfx has one point distribution with p (X=k) =1 and P(X#k) =0, then variance of X is ........
a) k b)1

)0 Vd)’N’one of these
A7 Deciles divide the data intg

.......... equal parts.

a)9 b) 4 L0 d) 100
A8 TEX~b(n, 1/4), then the probability distribution of Y=n-X is

2) bM1/4)  b)bn,1) UB3/4)  d) b(2n,1/4)

/Mhe second central moment of Poisson distri bution with mean m iS---«
_Arm b)2m ¢) m2 d) m/2

20.-Geometric distribution is a particular case of ...
a) Binomial Distribution

-------

b) Poisson Distribution
W Negative binomial Distribution

d) Hypergeometric Distribution
}Mf X-NB (k, p) then ... ‘
mean<variance b) mean>variance P
b) mean=variance d) mean< Geometric Distribution

~22Mode of the binomial distribution jg---.
Va)/n‘ot unique  b) unique ¢c) np

_~23.A xandom variable X—H (N, M,n) when N— coand + = P. the distribution of x s
VbQ  b)bmp)  ¢)b(m,q) (0, p)
}4’.’&‘& random variable X—H (10,6,3) then the mean of X is

a) 10 | py13 ¢)6 d)2

: }iﬁe recurrence between the probabilities o
) m/(x+2) b)m/x

d)npq

f Poisson(m) is PX=x+1)= ..

NmH) _dfm(x+1) e
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/./The both regression coefficient has ........

' \)3' Same algebraic sign always b) Same algebraic sign never
¢) Same algebraic sign sometimes d) all of these
/ﬁf correlation between X and Y is 0.7, then correlation between (4X+3) and (3y-4) is .......
V’QO'.? b)-0.7 )0 d) None of these

/3{& set of values with mean 20 and its coefficient of variation is 15% then variance of the series

» 2)30 b) 3 e d)300

fﬁz == Othen R123= ..ovvuw

a) 1 . ¢) Unpredictable d) None of these
/5./ The variation in values of times series due to traditions and festivals is known as ........
\)a’ Seasonal variation b) Cyclical variation
b) Random variation d) None of these
/(If ri3=rp3 =0 thenryz =  .eeeiins
‘/a)/ T12 b) Zero c)l d) none of these

/7./Which of the following true for [R|= .........
A 1-r? = 1Py = 123 + 2ryaristas D)I-r?ip + 7243 = 753 + 211aM13Ta3

2 2 2 2
b) 1412y, — 1213 —T%23 + 2112T13723 d)1-r%,; — 1?33 — 1753 = 2ryaTi3023

}(If cov(x,y)=-6, V(x) =4, v(y)=9 then om0 diiia
‘))/ A b)1 ¢)-1to+1 d) None of these
%fhe order of residual X123 18 «.vvvueeiiieiinnnin
a) 1 WByZ c)3 d) None of these
/K./ 'I;he correlation coefficient is the .......... between the regression coefficients
a) AM. b) Median  ¢) Mode Vd)Geometric Mean
“The additive model in Time Series 185 i
8 Y =T+S+CH b) Y=THSH ) Y= S+C+1 d) Y=T+S+C
/Rank correlation coefficient is equal to 1 9 S duaivalndout &
a) Ydi=1 /b’jfdi2=0 OXdi >0 Y. di? < 0

“Let (X, Y) be a bivariate discrete r, V. with joint p. m. f.
(x.y) 0,00 |(1,0) |(©.1) (LD
Pxy) |12 |14 [5n2 |14

2]




The mean of v js ...
a) 13 b)1 ¢)5/12 A7
D"\IfX and Y are two random variables with means E(X) and E(Y)resp. then the expressions
E[(X-E(X)) (Y-E(Y))] is called .........
a) variance of X Vb)’Variance of Y
c)eovariance between X and Y  d) correlation coefficient between X and Y
5.The correlation coefficient between X and Y is zero. We then conclude that........
a) X and Y have some distribution.
l/b)’ The variance of X and Y are equal.
¢) There exists no relationship between X and Y
d) There exists no linear relationship between X and Y
D,Qf X has one point distribution with P (X =k) =1 and P(X#k) =0, then variance of X is .

a) k b)1 ¢)0 l/alf)’ﬁone of these
/XDeciles divide the data into.......... equal parts.

9 b) 4 _orT0 d) 100
18. If X—b(n,1/4), then the probability distributiqn of Y=n-Xis.......

8 b1M4)  b)b@nl) ,oybm3M)  d) b(2n,1/4)

/W{‘he second central moment of Poisson distribution with mean m is----

‘/a}/r'n b)2m ¢)m? d) m/2
/’O/ Geometric distribution is a particular case of ..
a) Binomial Distribution b) Poisson Distribution
1/.lsyj/i\kegative binomial Distribution d) Hypergeometric Distribution
/I/Ifx-»NB (k, p) then ... ey
,)a/mean<vanance b) mean>variance
b) mean=variance d) mean< Geometric Distribution
/efﬂode of the binomial distribution ig-----
l/a)/not unique  b) unique ¢) np d)npq

/ZJKA random variable X—»H (N M,n) when N- ooand < = P, the distribution of X is..
a)b(n,g)  b) b(m,p) ¢)b(m,q) ‘,dab’(n,p)
24.Jfa random variable X—H ( 10,6,3) then the mean of X is......

a) 10 ,byTs8 c) 6 d)2 ;
/5’ The recurrence between the probabilities of Poisson(m) is PX=x+1)=......... P(X=x)
Ca) mx+2) b)m/x eX/(m+1) | BT(x+1)

22
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/A: both regression coefficient has ........
_-a)~ Same algebraic sign always b) Same algebraic sign never

c¢) Same algebraic sign sometimes d) all of these
ﬁ. If correlation between X and Y is 0.7, then correlation between (4X+3) and (3y-4) is .......
/‘7(7 b)-0.7 ¢)0 d) None of these

® a)30 b) 3 99 d)300

/. Ifr12 =113 =0 then R1.23 il
a) 1 )0 ¢) Unpredictable d) None of these

/ 5. The variation in values of times series due to traditions and festivals is known as ........

Seasonal variation b) Cyclical variation
b) Random variation d) None of these
/ 6.Ifry3=ry3=0 thenrjyz = ..........
&) 1y b) Zero c)l d) none of these

7. Which of the following true for |[R|= .........
//{1'7’212 — 1213 =13+ 2rpniates B)1-ryp 4125 —r2ys + 21y51ya7y;

® b) 1412, =123 =125 + 2rianiatyy )12y — 1253 — 1255 — 21,7375 ’
. If cov(x,y)=-6, V(x) =4, v(y)=9 thenr=............
8y -1 b)1 c)-1 to +1 d) None of these
~The order of residual X123 1S «covvvvereerveernnnn.
/r:) 1 b2 c)3 d) None of these
/}0. The correlation coefficient is the .......... between the regression coefficients
a) AM. b)Median  ¢)Mode . -dyGeometric Mean
. The additive model in Time Series is ............
@) Y =THS+CH b) Y=T+S+ ¢) Y=S+C+ d) Y= T4+S+C
12. Rank correlation coefficient isequalto 1if ........................
/ a) Ldi*=1 \/H)fdiz=0 )xdi? >0 dYdi2 <0
13. Let (X, Y) be a bivariate discrete r, v. with joint p. m. f,
7 &y @0 [0 [@D [@D
P(x.y) 172 1/4 5/12 1/4

|
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The mean of Yis .......

dy2/3
a) 13 b1 /‘ﬁ’ 12

the expressions
/H. If X and Y are two random variables with means E(X) and E(Y)resp. then P

E[(X-E(X)) (Y-E(Y))] is called .........
a) variance of X b) Variance of Y I8
_~€)covariance between X and Y d) correlation coefficient between X an

4 at
15.The correlation coefficient between X and Y is zero. We then conclude th

--------

/ a) Xand Y have some distribution.

/16.IfX has one point distribution with P (X =k) =1 and P(X#k) =0, then variance of X is .........

b) The variance of X and Y are equal.
¢) There exists no relationship between X and Y
/d)/T here exists no linear relationship between X and Y

a) k b)1 —e)0 d) None of these

7. Deciles divide the data into.......... equal parts.

a)9 b) 4 —cy10 d) 100

/]8. If X-b(n,1/4), then the probability distribution of Y=n-X is.......

a) b(n,1/4) b) b(4n,1) | ;a’lf(n,3/4) d) b(2n,1/4)

/I 9.The second central moment of Poisson distribution with mean m is----

(/aj/ m b)2m ¢) m? d) m/2

/ZO. Geometric distribution is a particular case of .........

\

/°

a) Binomial Distribution b) Poisson Distribution
by Negative binomial Distribution d) Hypergeometric Distribution
21. If X-NB (k, p) then ......
Va)/ rﬁean<variance b) mean>variance
" b) mean=variance d) mean< Geometric Distribution
-Mode of the binomial distribution jge----
&)/not unique  b) unique ¢)np d)npq

23.A random variable X—H (N, M,n) when N= coand % =p, the distribution of X js,.
a)b(n,g)  b) b(m,p) e)b(m,q) d)b(n,p)
24.If a random variable X—H (10,6,3) then the mean of X is

a) 10 1.8 )6 d)2
25.The recurrence between the probabilities of Poisson(m) is Pi=x4)=, .. . P(X=x) 2
) m/(x+2)  b)mk W/(m+])  dlm/(x+)
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Sr. No. Name of Student Marks

L, Patil Shreya Pravin 4o

2 Ajagekar Maithili Sunil G4

3 Fadtare Divya Ananda 4o

4. Sankpal Kajal Baliram 4y

5. Bharankar Sumita Sandip Lf 4

6. Patil Shital Shivaji ]9
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8. Kamble Shrirang Bhagwan 4o
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Sr. Name of Student Previous | Remedial | Progress

No. Marks Class

Marks
Patil Shreya Pravin 2§ Yo qg Vs

2. Ajagekar Maithili Sunil - G2 LY.

3. Fadtare Divya Ananda 99 Ll 2 L\ 07
-+ Sankpal Kajal Baliram 1 ¢ 4y 86y
3. Bharankar Sumita Sandip 19 Y ? 59
6. Patil Shital Shivaji 0 o Q9 Rgy
P Gorade Vishal Karyappa Vs 46 B 6y
8. Kamble Shrirang Bhagwan 22 Ll o 3¢y
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19 August, 2024 to 29 August, 2024

Report

The Department of Statistics organized Remedial Coaching Classes for B.Sc. II students
from 19™ August 2024 to 29" August 2024 (10:00 a.m. — 11:00 a.m.) to improve understanding
and build a strong base in statistics.

“The main objectives of this program were to assess students’ strengths and weaknesses,
improve their learning abilities, and provide academic support for their overall development.”

A total of 08 students participated actively in the coaching. The sessions included lectures,
problem-solving exercises, and interactive discussions. Attachments such as the Syllabus, Time
Table, Attendance Records, Photographs, and Question Papers are enclosed.

The classes were planned and conducted by Ms. A. M. Makandar, Mr. A. B. Bhosale, Ms.
M. A. Mulik, Ms. P. V. Ransubhe, Mr. A. S. Tangawade, and Mr. D. D. Patil, with the valuable
support of the Principal, Dr. R. R. Kumbhar, and the Head of Department, Mrs. V. C. Shinde.

The program was successful in improving students” conceptual clarity, confidence, and
academic performance. It is recommended that such initiatives continue in the future for the
benefit of students.




